275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

AIR CLEANER LIGHT DISK

Peterbilt - Premium Can
INSTALLATION INSTRUCTIONS:

Remove air cleaner cap and set aside.

Remove the 6 nuts, holding the air cleaner screen on and remove the screen.
Drilla 7/16"” hole in the screen near or on the seam.

Feed the harness wire through the hole and install the grommet.

Peel the plastic from the disk.

o Uk W=

Sit the light disk on the top of the screen, with the plastic (lighted) side facing down, making sure the grommet hole in the disk
is located at the hole closest to the screen seam.

7. Fasten the disk to the air cleaner screen using a %-20 x 1” hex bolt, ¥ flat washer and nylon flat washer on the inside of the
screen. The nylon spacer will provide the clearance between the flange and the disk. Then a 1/4” flat washer on the top of the

disk with a nylon locknut. Tighten until snug.

&

Lock Nut

Flat Washer

Nylon Spacer

Nylon Flat Washer

Y4 Flat Washer

8. Re-install the intake screen to the air cleaner with the seam facing the hood and re-install the cap.

9. Attach the harness to the metripack harness provided and plug into the truck’s air cleaner harness.

Page 1 0f 3 00812970 09/2015



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a Vle L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & ISO14001 REGISTERED SYSTEMS

DISQUE LUMIERE POUR FILTRE D’AIR

Peterbilt - Filtre Premium
INSTRUCTIONS D'INSTALLATION:

1. Retirez le couvercle du filtre a air et placez-le de coté.

2. Retirez les 6 écrous maintenant la grille du filtre a air et retirez la grille.

3. Percez un trou de 7/16"dans la grille sur ou prés du joint.

4. Passez le faisceau de cable a travers le trou et installez le passe-fil.

5. Retirez la pellicule plastique du disque.

6. Placez le disque de lumiere sur le haut de la grille, avec le coté plastique (éclairé) vers le bas, en vous assurant que le passe-Ffil
dans le disque est situé vis-a-vis le trou le plus proche du joint de la grille.

7. Fixez le disque a la grille du filtre a air avec un boulon hexagonal'-20 x 1”, une rondelle 1/4”, et une rondelle plate en nylon a
l'intérieur de la grille. L'entretoise de nylon permet un jeu entre [a bride et le disque. Ensuite, placez une rondelle plate 1/4"

sur le dessus du disque avec un contre-écrou en nylon. Serrez complétement.

CONTRE-ECROU

RONDELLE PLATE

ENTRETOISE NYLON

RONDELLE NYLON

RONDELLE PLATE 1/4”

8. Ré-installez la grille du filtre a air en placant le joint vers le capot et ré-installez le couvercle.

9. Fixez le faisceau sur le faisceau metripack fourni et branchez dans le faisceau du filtre a air du camion.

Page 2 of 3 00812970 09/2015



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

DISCO DE LUZ PARA FILTRO DE AIRE

Peterbilt - Filtro Premium
INSTRUCCIONES DE INSTALACION:

Quite la tapadera del filtro de aire y ponga a un lado.

Quite los 6 tornillos, sosteniendo la pantalla del filtro de aire y quitando la pantalla.
Perfore un agujero de 7/16” en la pantalla cerca o en la costura.

Avance el alambre arnés por el agujero e instale el ojal.

Quite el plastico del disco.

o Uk wpnS

Siente el disco de luz en la parte superior de la pantalla, con el lado plastico (mas claro) viendo hacia abajo, asequrandose que
el agujero del ojal en el disco se localiza con el agujero cercano a a costura de la pantalla.

7. Sujete el disco al filtro de aire usando un tornillo hexagonal %-20 x 1, arandela plana de 4" y arandela plana de nylon adentro
de la pantalla. El espaciador de nylon dara el espacio entre la brida y el disco. Luego una arandela plana de %" arriba del disco
con una tuerca de nylon. Apriete hasta ajustar.

&

Tuerca de bloqueo

Arandela plana

Espaciador de nailon

Arandela de nailon

Arandela plana de 1/4"

8. Instale nuevamente la pantalla de entrada al filtro de aire con la costura viendo hacia el cap6 e instale la tapa de nuevo.

9. Coloque el arnés al arnés Metripack provisto y enchufe al arnés del filtro de aire del camién.

Page 3 of 3 00812970 09/2015



